2. The marks (out of 10) obtained by 28 in a Math test are listed as
below:

| 8,1,2,6,55,50,1,9,7,8,0,5,8,3,0,8,10,10,3,4,8,7,8,9,2,0

, The ber of J who obtained marks more than orequalto S is
| (A)13(B) 15(C) 16 (D) 17 "M M’m F{bﬂwﬂ)
| \) Solution:- \ -
(D)17

‘First we have to arrange the marks (out of 10) obtained by 28 students in a Mathematics
test.

/ fosiies Lcloechordl d
0,({,0,0,1,1,2,2./3,3,5,5,5,6,7.7,5,8,8,3,8.8.9,9,10,10.

The number of students who obtained marks more than or equal to Sis 17. o< qd_
3. In question 2 above, the number of students who scored marks less than 4 is
(A)15(B)13(C)12(D) 10
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Questlun 1: 7 av,
value of x

a) 40
b) 37
<) 29

d) 23
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Question 1: If the average of 46, x, 30, 36, 59, 82, 68 an 4 is @en what is the

value of x? /
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a) 40
b) 37
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Q.5: The average of 10 numbers is 23. If each number is increased by 4, what will the new
average be?
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Q.5: The average of 10 numbers If each number is increased by 4, what will the new
average be?
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Q.8: The average age of three boys is @zars and their ages are in proportion %Q"\Q\

What is the age in years of the youngest boy? < A
Solution: Let the age of the youngest boy bg(% "

n
As per the question; @ W
an s
(3x+5x+7x)/3=15 !
i — &

3x+5x+7x = 45 S

@ 15x = 45 \< -
x = 45/15 \ﬁg@?;@
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\l\“r/ 15x = 45 W7 ﬂ\ w

x =45/15 <
‘ x=3 ( \ 7y s
Age of the youngest boy is: 3x = 3(3) = 9 years 033\ 7 %
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2. The runs scored by 11 players in the cricket match are as follows:

7,116,121, 51,101, 81,1, 16,9, 11,16

Find the median of the data.
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3. Find the median for the data 8, 5, 7, 15, 21. . \ v @
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5.Fora ' ly sk i distribution, mean = 12 and mode = 6. Using these values,
find the value of the median.

Swedian  Z Lvuant made

M+ b

= 7. Find the median of the first éwhole numbers.
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Solution: 0 '\ @ b‘ C - Q
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8. What is the median of 4, 2, 7, 3, 10,9, 137 -~
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Q.8: The average age of three boys is 15 years and their ages are in proportio
What is the age in years of the young}z b

oy?

Ce(a
Solution: Let the age of the youngest boy b
As per the question; @ MMM @

_ vl L's
% (3x+5x+7x)/3 =15

3x+5x+7x = 45 /
15x = 45 s

v=AR/1R
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Q.8: The average age of three boys is 15 years and their ages are in proportion(3/5:7.
What is the age in years of the young}t boy?

Ce(a
Solution: Let the age of the youngest boy b e
)
As per the question; Q) ""M'M @ @ \‘1""' /
o (Bx+5x+7%)/3 =15 = @ w/‘-‘(
/

Ix+5x+7x =45 -\m«'\

Qo
15x = 45 t\d*\(

x=45/15

o 412

x=3 7
Age of the youngest boy is@ 3(3) =9 years
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e3. Find the missing number i
ropol pror
Of)8(:) 12 : 32
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